optical tTable

e o O VS S N e — - P ——— e e — o — - 4

O O
@) O ~ U
QN N e
oN
MWD
— <
" :
Oj '
N O | |
. o> | S
5 | ) :'Xé
LO) I Iy '!\‘5
) /- -‘T_-\; Sy
N ! AN LR
| % & |
op 7 L
.\\§§mh4 :
D (</\}>//////////'f////////}/////
ar .4 —— \ - X
) . \
— =
O
2 L
T O
— &
. O
Vo) -
0 -
Vo)
— <
LO
LO

.5

206. (7 stroke +/-31

2 a D o I 8 9 10
(4 Tommy head M16x35 3
i 74 Tommy head M12x30 16
| 8 tommy head M10x50 (S) 16
; 8 tommy head M10x20 (S) 64
| detai |l Type n°piec.
i Screw’'s table
|
|

see draw. 100-101-102-104

added dimensions level of table 20-11-06
added general dimensions 08-11-06
ESEBC)*’T(DFW F mounting of the spring 30-09-06
modified position of motor spring |[03-07-06
1010 ref. note date signature
modifications
168 | 175 |bal lasT gr.6| 110 | h—accelerometer
1371.6 167 | 175 | bal last gr.5/ 108 | slide
74 142 | tfransport bracket| |gr.4| 109 | motorized spring
73 142 | tfransport column| |gr.3| 105 |LVDT—actuator
qr. ar.5 <JT/_C)LJTA7<j 8 | 142 | stiffener fastening | |gr.2| 107 | Inver.pendulum
I 142 | wedge gr.1] 106 | Tilter
ref. | draw. added | egend ref. | drow. added | egend
Modify part 23 (draw. 51106) To change his working point and level of optical Table ‘
o forR.De Salvo
£34@| LIGO PROJECT [*¥% " rouec
e o 26-12-04
HAM=0F I [CAL BENCH |L160-D051103-05-D
SECTION E-E et e AT
2 . ! 8 9 10




